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BbIiTtoJITHUTE Oell CTBUY-

1. 600: 10 = o]0,
2. 600:15 = 40
3. 60+ 40 = 100
4 600:100= 6
5. 7000 +600= 7600
6.
7.
8.

650 + 400 = 1050
900 + 425 = 1395
1300 + 800= 2100



« KpyroBpiey IIpUMEDPHI:
4800+ 8,6400:64, 100+ 24,
. 2400:40, 60 +90, 5400:27,

200+ 35, 7000-6 650, 350 +650,

1000:40, 253, 75:15=5



L

SHIIIOJIHUTE YMHOXEHUE:

173 - 05 - 2= 173

2) 0,25 - 56,34 - 4= 560,34

3)2,5 - 0,4 - 50 - 0,02 1




BpIIIOJIHUTE YVMHOXEHUE:-

1)34,81 - 125 - 0,08 =348, ]

- 78,23 - 0, 8,23

3)23 - 0,5 0,4 =




SBbIUUCJIUTE:-

A

12,58 - 0,1 = 1,258
12,58 : 10 = 1258
12,58 - 0,001= 0,01258
12,58 - 0,1258
0,01= 0,1258
12,58 : 100=




Beraucnaure:

1.5 -3 = 4,5
0,15 -3 = 0,45

15 -0,3= 45

1,5 -0,3= 0,45
1,5 - 0,03= 0,045
0,15 - 0,3= 0,045
0,15 - 0,03 0,0045




Beraucnaure:

17 -4 = 038
17 - 04 = 6,8
1,7 -4 = 63
17 - 0,04= 0,68
1,7 - 04 = 0,68
1,7 - 0,04= 0,068
0,17 -4 = 0,68
0,17 - 0,4= 0,068

0,17 - 0,04 = 0,0068



Beraucnoure:

16 - 4 38 - 0,01
+11 19
: 15 - 50
- 17 - 0,3

+18 0,2




Beraucnoure:

4+ 49 0,5 8
: +1,2
+59 -2,5

: 20 .
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- Berunran, AU U MHOXb,
TLIFOCHI CTaBby @ TAKKE CKOOKH!
_BepuMm k GhuUHUITY TPUICIIH!
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